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è
u
n

p
ol

in
om

io
d
i
gr

ad
o

k
+

1
ta

le
ch

e
p

k
+

1
(x

i)
=

y
i,

i
=

0
,
1
,
.
.
.
,
k

+
1
.

D
im

os
tr

az
io

n
e.

S
ia

g
(x

)
il

p
ol

in
om

io
d
i
gr

ad
o

k
+

1
d
i
in

te
rp

ol
az

io
n
e

in
x

0
,
.
.
.
,
x

k
.

V
al

e
ch

e
p

k
+

1
(x

i)
=

p
k
(x

i)
=

y
i,

i
=

0
,
.
.
.
,
k
.

In
ol

tr
e

il
co

effi
ci

en
te

d
i
x

k
+

1
d
i
p

k
+

1
(x

)
è
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